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® 314 cm? @ 628 cm? @942 cm?

@ 1256 cm? ® 1570 cm?
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62.8 x 15 & Al4tstd Hyrh.

62.8 x 15 = 942(cm?)
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20 x 20 x 3.14 x 40 = 50240( cm?)

(2] #3)




® ¥AE Qo]
OENEED

® &ol

o|J
TR

o|J

ojul




oy

Al

o

Hr
ol

BH

o] Ao
Folo] A giych

ni-
L]_._
e}
e
@




12. 299 WA= BE 9759 GHolE FohAL.

2cn |

- O

i

e

B
[\

>
[> ®™EH: 37.68cm?

(F4¥le]) =6x3.14 x 2 = 37.68 (cm?)
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678.24 cm?
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6% 6x3.14 = 113.04( cm?)

(FEo])= 12 x 3.14 x 12 = 452.16( cm?)

(B4¥lo])=113.04 x 2 + 452.16 = 678.24( cm?)
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TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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@ ZEol7F 294cm? 1 A=

B

@ 5x5x3.14 x5 = 392.5(cm?)
@ 6% 6x3.14 x 3 = 339.12( cm®)
® 6x6x6=216(cm?)

@ 3 242 9] FolE [ |emst 519

[ Ix[ [x6=1294,] |x[ ]=49,[ ]=7(cm)
whatA Bul 7x7x 7 = 343(cm?) QU

® ¥ o] Htz]E0] 31.4 =+ 3.14 + 2 = 5(cm)
ojEE Bull 5x5x3.14 x 3 = 235.5( cm?)
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Ut} o9 dol= 2 em ¢1A] oA L.

(BF)=(X22] Dol)x(PF8)

= 15x2x3.14 = 94.2(cm)

(ttale] Zol)=(ZH 219 T2 Zol) x(3A )
=94.2 x 3 = 282.6(cm)
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® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)

Zylo]) =
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o]7F 78.5cm? |1, ZY0]7} 376.8 cm? & ], o] Y7152

=0

(Bylo]) = (B4¥ol) x2+ (4ol

376.8 = 78.5 X 2 + 5 x 2 x 3.14x (3°])
= 157 + 31.4x (&°))

(%0°])=219.8 + 31.4 = 7(cm)

]



19. ohe GAEGe] H3)2 FaHA 0,

» E cm?

> HE: 1978.2cm3

B
(A= G )= (4] 275 29| &)
=(83%x3%3.14%x5) +(6x6x%x314x5) +(9x9x3.14x5)
= (45 4 180 + 405) x 3.14
=630 x 3.14 = 1978.2( cm?)
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@ 125.6cm? @ 188.4cm? ® 314cm?
@502.4 cm? ® 732.56 cm?
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S0 ¥ 9715 afo] HY .
(FA = o] 2ylel)
— (4x4x3.14-1x1x3.14) X2+ (8x3.14x 13) + (2x3.14x 13)
— 94.2 4 326.56 + 81.64 = 502.4( cm?)




